i |
ﬁomev
www.injen.com

Part number RD1110p (E46)
1999-00 BMW 323i 2.5L
1999-00 BMW 328i 2.8L
2001 BMW 325i 2.5L

6 cylinder
1- 2 piece Injen intake
1- 3.00” small filter (#1017)
1- Steel heat shield (#11019)
1- 7 1/2” black vinyl trim (#6023)
1- 3.00” straight hose (#3044)
2- 3 1/8” straight hose (#3054)

6- medium clamps (.048) (#4004)
1- 3”- 8mm vacuum hose (#3091)
1- vibra-mount (#6020)
3- m6 flange nut (#6002)
1- fender washer (#6010)
1- m5 x m20 bolt (#6024))
1- wire tie (#8001)
1- license plate frame (#9010)
1- instruction
Note: This intake system is made to
fit cars equiped with or
with-out Zenon headlights.

Congratulations! You have just purchased the best engineered,
dyno-proven cold air intake system available.
Please check the contents of this box immediately.
Report any defective or missing parts to the Authorized Injen
Technology dealer you purchased this product from.
Before installing any parts of this system, please read the instructions
thoroughly. If you have any questions regarding installation please
contact the dealer you purchased this product from.
Installation DOES require some mechanical skills. A qualified
mechanic is always recommended.
*Do not attempt to install the intake system while the engine is hot.
The installation may require removal of radiator fluid line that may
be hot.
Injen Technology offers a limited lifetime warranty to the original
purchaser against defects in materials and workmanship. Warranty
claims must be handled through the dealer from which the item was
purchased.
Injen Technology 285 Pioneer Place Pomona, CA 91768 USA Please
Please check the contents of this box immediately
Note: This intake system was Dyno-tested with an Injen filter and
Injen parts the use of any other filter or part will void the
warranty and CARB exemption number.
Shop on line at injenonline.com for replacement parts and accessories.

‘!q




R@l&ye the rubber
R4 Covér: jn order to
Hard plastic connector |€xposeithe two studs.
remains on the throttle
body. >>>>>

Remove the stockair

intake box and duct

that leads to the throttle : { bolt

body. >>>> A e and use the mé
o . the shield i

333555

N/ 7 Note:
Screw the vibra-mount 4 his 3.00” hose
to the side of the strut ‘ lon secondar
tower mount. e g |

Mass air flow

Press the other/3 SeRny

hose over the ot

and use two clam
| >>>>!
\ :

Press the 3" straight Press the
hose over the ;-side

of the primary’intake. _
connector and semi-fag

the Clarmp.

S sensor over th

~ N j -.
end of the inke. 7 &

Unscrew the
and remov
braqcket.




Paosition the HID balast.
Note: Not all models
will be eq
with HID.

The secondary intake
is placed upside dowp
to mount the ballast. ¥

The m5 x m20 bolt us.uSed -w/‘-»

Locate the ballast on
the bracket and use the
m5 X m20 bolt to attach.

LOWer the secondary
intake into the head
IampReavity. =>>>>>>

The secondaryintake is
pressed into the hose
qQn the sensg@r.and the
battastigtin.place.

L R R e B e N AT - 150
T T i T A R SN G S
g : 1 1 1 1 1 1 1 1 1 1 1 1 1 - 14E|
S qan Lo Ll TR
N T A R S G R S - = A0
L B T S T el DRy B - 120
I o <A T T A AR S N A S
S A - 110
I T A T
3 S A T T T T T S T S - 100
11|:| _IIII:IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIIII —QI:I
36 38 40 42 44 48 48 40 52 54 56 58 60 62 64 66 B8
RPm (1000}
OY¥MORUM.ODF BASELINE 81402 5:14:24 P
1999 Bhniy 2221 2 8L
STOCEK
18" WMHEEL PACKAGE
57,000 MILES
JRD GEAR TEST

DYHORUN.O11
1999 BhAO 3281 281

RO1110 ShiaLL 2.00 FILTER

INJEN COLD AR INTAKE 57 STEW

18" WHEEL PACKAGE
57,000 MILES

RO 8402 7:02:20 P

(sq1-y) anbio] I¢s



Note: Please disconnect the negative battery terminal before starting this installation.
1. Remove the stock intake box and intake duct leading to the throttle body. Unplug the vacuum
hose from the intake duct and remove the mass air flow sensor from the air box. (See fig. 2)

N

. Remove the straight rubber cover enclosing the two studs. (See fig. 3)
3. Take the heat shield and align the pre-drilled holes to the two studs use the two m6 nuts in this
kit to secure the heat shield. (See figs. 4 and 5) Press the vinyl trim on the top edge of the shield.

4. Screw the vibra-mount into one of the tapped holes located on the strut tower mount. (See fig. 6)

5. Take the mass air flow sensor, four clamps and two 3 1/8” straight hose and assembled them as
follows. Press the 3 1/8” straight hose over each end of the mass air sensor put slip two clamps
on each side of the hose and tighten the clamp on the mass air sensor at this time. (See fig. 7)
You can also slip one of the 3 1/8” hose over the swedged end of the secondary intake. The
installation may be easier to some people.

6. Take the primary intake and 3.00” straight hose and press the hose over the 3.00” end of the
intake slip two clamps on the hose and tighten the clamp on the intake at this point. (See fig. 8)

7. Press the 3.00” hose on the primary intake over the throttle body. Align the intake and semi-
tighten the clamp on the throttle body side. (See fig. 9) Press the 3”-8mm hose over the 3/8”
nipple on the intake. Press the hard vacuum hose by the firewall into the 8mm hose placed on
the 3/8” nipple. (See fig. 9)

8. Press the assembled mass air flow sensor with the 3 1/8” hose over the primary intake. Align
mass air sensor and semi-tighten the second clamp on the primary intake. (See fig. 9)

9. Remove the driver side head lamp and dettach the clip joining the front head lamp frame to the
side fender. (See fig. 10)

10.Unscrew the bolt holding the light ballast to the head lamp. (See fig. 11) Remove the stock m5
bolt on the ballast and use the m5 x m20 bolt in this kit to attach the ballast to the bracket on the
secondary intake. (See figs. 12 and 13) Follow the next step to attach the ballast.

11. Take the secondary intake and filter, press the filter over the 3” end of the secondary intake and
fasten the clamp on the filter tight. Gently slip the filter end into the head lamp cavity and
attach the lamp ballast to the bracket on the intake use the m5 x m20 bolt. (See figs. 14 and 15)

12. Press the secondary intake with the ballast into the 3 1/8” hose on the mass air sensor. Align
the bracket on the intake to the vibra-mount stud and use the m6 nut and fender washer to
secure the entire assembly. (See fig. 16)

13 Align the entire cold air intake for best fit. when proper clearance has been made continue to
tighten all nuts, bolts and clamps. (See fig. 1)

14. Replace the front head lamp to its stock location, connect the harness clip to the mass air flow
sensor and reconnect the negative battery terminal

15. Remove all tools and rags from the engine compartment prior to starting the engine.

16. Congratulatons! You have just completed the installation.

page 4 of part# RD1110






